
1-1 Delay 1/4sec 12 = 3sec yellow green green

1-2 Signal 102 Aspect 1 – Yellow 102 103 104

1-3 Signal 103 Aspect 2 – Green

1-4 Signal 104 Aspect 2 – Green

2-1 Delay 1/4sec 12 = 3sec red yellow green

2-2 Signal 102 Aspect 0 – Red 102 103 104

2-3 Signal 103 Aspect 1 – Yellow

2-4 Signal 104 Aspect 2 – Green

3-1 Delay 1/4sec 12 = 3sec green red yellow

3-2 Signal 102 Aspect 2 – Green 102 103 104

3-3 Signal 103 Aspect 0 – Red

3-4 Signal 104 Aspect 1 – Yellow

4-1 Delay 1/4sec 12 = 3sec green green red

4-2 Signal 102 Aspect 2 – Green 102 103 104

4-3 Signal 103 Aspect 2 – Green

4-4 Signal 104 Aspect 0 – Red

5-1 Delay 1/4sec 12 = 3sec green green green

5-2 Signal 102 Aspect 2 – Green 102 103 104

5-3 Signal 103 Aspect 2 – Green

5-4 Signal 104 Aspect 2 – Green


